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Spot the error in the given sentence. If there is no error 

mark"no error" as the answer.



We were famished and (A) ordered for a three-course 

meal before (B) the rest of the team members (C) joined 

us for lunch at "China Town". (D)/ No error (E)

1. (A)

2. (B)

3. (C)

4. (D)

5. (E)



Having taught for more than (A) 15 years the facilitator 

exactly knew to (B)/ handle student's expectations (C) 

while maintaining authority in class. (D)/ No error (E)

1. (A)

2. (B)

3. (C)

4. (D)

5. (E)



I can get the work (A) done since a very good friend of mine 

(B) is both a poet and a script writer of repute (C) and has a 

good network in the tinsel town.(D)/ No error (E)

1. (A)

2. (B)

3. (C)

4. (D)

5. (E)



Have you heard of the bike accident that/(A) happened 

last night on Maa flyover? /(B) I must say it's a grotesque 

of all the accidents/(C) that occurred in the past six 

months on that flyover.(D)/ No error (E)

1. (A)

2. (B)

3. (C)

4. (D)

5. (E)



In each question, one sentence is given. In each sentence, 

certain words are in bold and numbered from A to E. 

Below the sentences are given five options with possible 

pairs of interchange of those bold words. Choose the 

pair(s) of words which are needed to be interchanged to 

make the sentence grammatically correct and 

meaningful.



In an (A) crease to (B)exploit the opportunity arising 

from the fielder’s (C)misfielding, often the batsmen on 

the (D) attempt start running between the wickets to take 

a quick (E)single.

1. B-E

2. A-D

3. D-E

4. C-B

5. E-C



Though Rahul informed Shimul about the (A)date of the 

class test, Shimul has forgotten the (B)date and has 

(C)come to school without (D) puzzled the lessons, 

which has made Shimul (E) preparing.

1. B-A

2. A-C

3. D-E

4. C-D

5. C-B



The (A) go compelled Raja to (B) circumstances out in 

the afternoon (C) instead of scorching (D) heat outside, 

but mistakenly he took a torch (E) inspite of an umbrella. 

1. B-D,E-A

2. A-B, C-E

3. D-C

4. C-A

5. E-A



Last night when I was (A) looked on a mat on the 

(B)roof top of the building, I (C) lying at that the night 

sky which was (D)full of stars and (E)pieces of clouds 

were floating away.

1. B-A

2. A-C

3. D-E

4. C-B

5. E-A



In the old cupboard, I found (A) deflated books, (B) old 

balloons, (C) creased rubber tubes, (D) inflated clothes, 

(E)broken toys.

1. B-C

2. A-B, C-D

3. D-C

4. C-E

5. E-A



Select the most appropriate word to fill in the blank.



The 20th Party Congress is important because it is 

expected to _______ the continuance of Mr. Xi as 

China’s top leader.

1. Remorse

2. Demise

3. Endorse

4. Exaggerate

5. Relief



Prime Minister Narendra Modi will be traveling to 

Germany and Denmark on a _______ visit in the first 

week of May.

1. Bilateral

2. Collateral

3. Unilateral

4. Quadrilateral

5. Ipsilateral



The news of children being detected COVID-19 

positive is drawing more media _______ after school 

re-opening.

1. Retention

2. Pretentious

3. Correction

4. Persuasion

5. Attention



These are tough questions that the Dravidian movement 

is yet to _______ satisfactory answers for.

1. Provide

2. Divide

3. Livid

4. Vivid

5. Vide



The question below contains five scattered segments of a 

sentence. Indicate the sequence which correctly 

assembles the segments and completes the sentence.



A. clouds are

B. depending on their characteristics

C. lessening global warming,

D. capable of either

E. worsening or

1. ADECB

2. BCDEC

3. BCDEA

4. ECABD

5. BCADE



A. as we grapple

B. colleges and universities face

C. incredible challenges 

D. of COVID-19,

E. with the consequences

1. BCAED

2. ABCDE

3. ACDEB

4. ECDBA

5. CABDE



Select the phrase/connector from the given three options which 

can be used to form a single sentence from the two sentences 

given below, implying the same as expressed in the statement 

sentences.



His advice seems weird. I believe he is right.

1. hence

2. yet

3. because

1. Only 1

2. Only 2

3. Only 3

4. Both 1 and 2

5. None of these



I can't help you. You tell me what's wrong.

1. unless

2. until

3. only

1. Only 1

2. Only 2

3. Only 3

4. Both 1 and 2

5. All 1, 2 and 3



The heat has backed off slightly since mid-June. The 

Siberian town of Verkhoyansk experienced a 

record-breaking 100-degree day.

1. according to

2. after

3. If

1. Only 1

2. Only 2

3. Only 3

4. Both 1 and 2

5. None of these



Demonstrated the concept of a programmable machine. 

Another important development in the history of 

automation was the Jacquard loom.

1. which

2. who

3. so

1. Only 1

2. Only 2

3. Only 3

4. Both 1 and 3

5. Both 2 and 3
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